2994543

Plan No
E001089/D

N
23Sl
—= mWP
SHNEE
L (@)
I— b
LLl
<t —
<t Al
=1 13l8

AN | =

S =58P

Z sl7|S

x of |7

%)

nKu ™~
(@]
o)

3 |:53
al—

-+ |z

(qp] (q\]

T

(@p) (@]

I s}

r (9.,
= |.©

I
O
wn

E001089 /D




E001089 /D

Material

No. Plan Article Quantity No. Plan Article Quantity

1 1914577 (50) 1 12 M4x20 DIN84 1001466 4
1917829 (55) 1 13 M4 DIN985 1001678 2
1914578 (60) 1 14 X001016 1001682 4
1917830 (65) 1 15 M10 DIN985 1001683 4
1917831 (70) 1 16 M8 DIN125 1003199 2
2 1906008 (50) 1 17 M5 DIN9021 1005138 8
1917832 (55) 1 19 M8x16 DIN912 1001498 4
1906272 (60) 1 20 M6x20 ISO7380 1006999 2
1917833 (65) 1 21 M5x10 ISO7380 1007063 8
1917834 (70) 1 22 X002381 1009335 4
3 X004939 1907375 1 24 1906790 2
4 X004940 1907374 1 25 -—- 1906791 2
5 X004991 1773000 2 26 1906792 2
6 Y017936 1759054 2 27 M4 DIN985 1907202 4
7 Y018564 1774200 2 28 1907338 2
8 Y019695 1786554 2 29 M4x12 DIN7984 1907582 4
9 Y019831 2001754 2 30 1910745 4
10 Y022372 2039354 (50) 1 31 2 ACT 1912304 1
Y023772 2076354 (55) 1 32 1991679 2
Y020984 2037054 (60) 1 33 M8x20 ISO7380 1992349 2
Y023761 2076454 (65) 1 34 M12 DIN125 1993362 4
Y023750 2076554 (70) 1 35 M8x25 DIN7991 1995598 2

11 Y022778 2044954 (50) 1 36 30x20 1997922 2 N

Y024081 2081054 (55) 1 37 M4x16 2990185 2 ©

Y022777 2044854 (60) 1 39 2994400 1 O

Y024082 2081154 (65) 1 41 M8 DIN125 1001556 4 Cﬁ

Y024083 2081254 (70) 1 42 M10 DIN125 1001557 4 N~

w

FOREST 3+ BACK FRAME L44 ELECTRIC Plan No.
Sheet 2/2 E001089/D
scale:  9:50 Drafted Verified Confirmed \\\V/’/’
e 54711/2017 | 10/06/2021 | 10/06/2021
Initials SD SD PJ Q00




